Directions:
Identify the correct answer to each of the following questions. 
Objective A

1.
The equipment, ingredients, and employee labor at a restaurant are all



a.
inputs.
c.
productivity.


b.
objectives.
d.
mass production.


2.
The amount and value of outputs produced from set amounts of resources are known as 



a.
inputs.
c.
productivity.


b.
objectives.
d.
mass production.

3.
Janine works at the gift-wrapping booth in the local mall. During a typical eight-hour work day, Janine wraps 52 gifts. What is her productivity rate?



a.
17.3 gifts per hour
c.
7.0 gifts per hour


b.
2.2 gifts per hour
d.
6.5 gifts per hour

4.
One way that the productivity of a business can be measured is by



a.
determining the amount of time needed to gather all necessary inputs.


b.
calculating the total monetary costs of all inputs used.


c.
dividing the dollar value of total sales by the costs of making those sales.


d.
dividing the number of products made by the cost of distributing those items.

5.
Why is the productivity of service businesses measured differently than that of manufacturing 
businesses?



a.
Service businesses are less efficient than manufacturers.


b.
Manufacturers measure their productivity on a regular basis.


c.
Service businesses are concerned about the appropriateness of their products.


d.
Manufacturers produce intangible goods.

6.
Why should productivity be measured?



a.
To see whether the business’s objectives are being met


b.
To locate new sources of inputs


c.
To determine the best ways to invest company profits



d.
To find new ways to meet customer needs

7.
A positive effect that productivity has on a business is helping it to
 


a.
determine the health of the nation’s economy.



b.
increase sales and profits.



c.
increase the standard of living.


d.
stop inflation.

8.
How does increased business productivity benefit consumers?



a.
More goods and services become available, so prices go down.


b.
More goods and services become available, so prices go up.


c. 
Costs of labor and prices increase, so inflation goes up.


d.
The gross domestic product goes down, so inflation goes up.

9.
Gross domestic product per capita is a measure of



a.
everything a country produces within its borders.


b.
everything a country imports from foreign countries.


c.
everything a country exports.


d.
the average worker’s productivity.
OBJECTIVE B

10.
Lack of standardization occurs when



a.
employees don’t understand how to use a machine or tool.


b.
tasks and processes are done differently every time.


c.
products are complex and difficult to assemble.


d.
team members do not get along with each other.
11.
A company produces only one type of shoe, since this is the product it is best able to produce with its resources. This is an example of 



a.
specialization.
c.
productivity.


b.
division of labor.
d.
competitive advantage.

12.
Which of the following is an example of using capital investment to increase productivity?




a.
Renegotiating a supplier’s contract


b.
Making suggestions to improve the organization


c.
Giving performance-based bonuses


d.
Purchasing new computers

13.
A factory that mass produces clothing increases productivity because it reduces 


a.
employee wages.
c.
research and development costs.


b.
wasted resources.
d.
levels of management.

14.
Research and development speed up production by



a.
simplifying existing products.


b.
providing employees with adequate job training.


c.
limiting inflation.


d.
reviewing company goals with employees.

15.
To reduce the chance of investigations and orders to cease production, businesses should

 


a.
purchase the most up-to-date technology available.


b.
specialize.


c.
adhere to government regulations.


d.
lobby members of Congress. 

16.
Why are better trained and educated workers often more productive?



a.
They are more likely to become managers.


b.
They are less likely to take vacation and sick days.


c.
They tend to have a higher gross domestic product per capita.


d.
They tend to be more organized and able to manage their time wisely.

17.
Sharing business goals and objectives with workers is a method of increasing productivity through


a.
motivation.
c.
communication.


b.
mass production.
d.
specialization.

18.
Even though Brad isn’t a manager, his boss encourages him to give his input on issues affecting the company. Brad’s boss is using



a.
motivation.
c.
specialization.


b.
participative decision making.
d.
quality of work life.
19.
What is a method that managers can use to motivate employees?



a.
Encouraging employees to specialize


b.
Offering performance-based financial rewards


c.
Investing in new technology


d.
Sharing customer information with employees

20.
Fair salaries and wages, competitive benefits, and safe and healthful working conditions are all important in creating a good



a.
standard of living.
c.
division of labor.


b.
competitive advantage.
d.
quality of work life.
IMPROVING PRODUCTIVITY 
Directions: 
As a productivity improvement expert, you have been asked to explain and rank the various ways that a business could increase its productivity. Write an explanation of each method in the space provided and rank each method in order of importance, with “1” being most important and “10” being least important. When you have finished, ask your instructor for a copy of the answer guide.

	Method
	Your Explanation
	Rank

	1.
Specialization/
Division of labor
	
	

	2.
Increased capital  
investment


	
	

	3.
Mass production


	
	

	4.
Research and 
development


	
	

	5.
Working within 
government 
regulations


	
	

	6.
Training and  
education


	
	

	7.
Communication


	
	

	8.
Participative 
decision making
	
	

	9.
Motivation
	
	

	10.
Quality of work life
	
	


11.
Why is your #1 choice the most important method for improving productivity?
PRODUCTIVITY PROBE
Directions:
Read the following case, and answer the questions found at the end. 

Kenny was recently hired as a telemarketer for a large company. The six telemarketers contact automobile repair shops to sell them replacement car parts. On his first day of work, Kenny arrived at 8:00 a.m., made 10 fairly successful phone calls, and then stood to stretch and take a short break at about 11:00 a.m. Upon returning to his seat, Kenny’s supervisor informed him that there were no morning breaks. Employees are expected to work until lunch at 1:00 p.m.

As Kenny sat down to call more customers, he asked the worker next to him, Helena, how many calls she normally could make in a day’s time. Helena, who has been with the company for two years, said that she’d called 45 customers already that morning, and she usually had 120 calls in by the end of the eight-hour day. Kenny was amazed. He had been on the job for three hours and felt he was doing a fairly good job. After all, each call required him to give a lot of information, and then it took a great deal of time and concentration to record customers’ orders properly. However, compared to Helena, his productivity level doesn’t seem so impressive! As he started to dial the next customer’s number on his list, Kenny wondered how much he is expected to do.


1.
What factors may be hurting the telemarketing department’s productivity?


2.
How could productivity be increased?


3.
What is Kenny’s productivity level? 



What is Helena’s productivity level?



Explain why a new employee such as Kenny might not be as productive as someone like 
Helena, who’s been with the company for a longer period of time.


4.
Why should Kenny’s company measure its telemarketers’ productivity?
DIRECTIONS TO THE INSTRUCTOR FOR GROUP CORPORATE ACTIVITY

Process: Divide the class into groups of three or four students each. 

Each group should read the case and respond to the situation found at the end of the case. When the groups have finished, have each report its findings and recommendations to the class. After all of the groups have presented, ask the class to discuss the 
responses and make additional comments. 
Case:

The LAC Electronics Corporation was founded in 1968. The company’s original focus was on the production of reasonably priced record players. Over the past few decades, however, methods of listening to recorded music have changed dramatically, and LAC was savvy enough to evolve as well. In the past few years, the corporation has positioned itself as a state-of-the-art manufacturer of MP3 players.

The business is organized to produce its products efficiently. The most up-to-date equipment is available for workers’ use in production, and the only items that the company produces are MP3 players.

LAC purchases its resources from many suppliers to get the lowest prices while still meeting its product standards. Use of the resources is carefully monitored to assure that they are being used efficiently, and management makes sure that a steady supply of resources is on hand at all times.

The company tries to get all employees to work at full capacity. In that way, the company usually only needs to hire the minimum number of employees needed for each job.

To recruit new employees for the assembly line, LAC runs an ad in the local newspaper. The first seven applicants are always hired because the company is on such a tight schedule to produce its MP3 players.

The company provides a two-hour orientation for new workers. During this time, new employees fill out their medical insurance forms, watch a video about dealing with sexual harassment, and receive instruction on how to complete their assigned tasks. After the orientation, communication from management is in the form of a quarterly newsletter.

Situation:

LAC Electronics Corporation’s corporate earnings and productivity have been declining in recent months, so the general manager has put together a productivity improvement team to suggest ways to increase productivity. Your group is that productivity improvement team.

Identify problems that are interfering with LAC’s productivity. Make recommendations that would help to increase productivity. 
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